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— 92 29Pn NN 172 'K 2w =92% 1A
Why is 211 912, because there is no other force mixed into him

OVERVIEW

»2R maintains that the MW 7% of the Mwn includes 33 WXM2 1AW IRWAY 13720 112X
DIW INR? PUTT I8N M2 1991, while X271 is of the opinion that the mwn T7X
includes 72 °%3721 OIX 2302 2a9anna 2. The Xn begins each mwn 7% by
contrasting M2 with the intended Tm°%. There is however a distinction. When
contrasting M2 with n"ox, the X3 asks, 12 27Yn X 11 PR 19w N2 710; however
when contrasting M2 with 232an%7 13, the question is 12 17 Pwyn PW N0 A,
Seemingly the X713 could have used either of these two N127°5 (12 2Myn IR 12 PR
or 17 173 Pwyn) for either Mwin 7¥. Our MdoIN will explain why by n"oX the &3
asks from 12 2797 MK 112 PR, and by 223723017 M2 the X713 asks from 17 173 Pwyn.

-9 99503 MY 395 15 119 PYUYN YN YN XYT [MYrI91] 75997 INnIY
According to what I explained previously that wx is not considered 293 vwyn

= (that his actions caused it), since the wind assists in spreading the fire; the X3 -

- 3139501 19383 VANN 19 199 VYUY 19Y 25 NN KN T991Y 381 M
Could have challenged here and asked, do you know why 912 is 217, because his
actions (exclusively) caused the damage, can you say that by ©''IX where the
damage was caused by the wind as well. The &3 would then respond that r°>1n WX; by WX it is
also not 17 1M Wy (as just mentioned [or 921 7)), and nevertheless it is 271 (just as the X722
responded "1 WX when the challenge was 12 2797 91K 113 PR 19w M2 77).

mooIn explains why indeed the X3 did not ask here 17 273 Ywyn 19w M27 77.
=591 2PUN 13 239991 NN NI PN )Y NI 29D NN

But the reason the X713 chose not to ask here from 12 1273 Pwyn is because the

challenge of 12 291y» 7R 172 I°X 12w is more effective -
- N9 WR NIN 199Y MY 912919 Y NOWNT

For on this challenge of 12 27yn 21X 12 X we cannot respond 13 1w, but

rather only m°01 WR. If the question would have been 17 173 YPwyn 1w 2% 71, we could
have responded with either >3 W& or °2 7w. For by both of them it is not 1% 173 PWwn;

" This is amended to read 'nw™57'"; referring to °2 7"7 2,7 Md0IN (TIE pg. 7 [between footnotes #18&19]).

? See “Thinking it over’ # 2.

? Damage caused by the wind’s assistance is not considered 17 Y73 Ywyn as nooN just pointed out regarding wx. If
however WX would be considered 17 173 wvn, so would this n"10X, and there would be no X379 (of 121 127 7n).

* The lesser opportunities there are to find a °21, the stronger of the x37°5.
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however when we ask 12 27W» TR 112 X 19w 127 71, we cannot respond 21 W for MW is also
12 27YR MR 1D PX; we are limited in our response to only 21 WX.

MooIN discusses now the other MW TY:
=19 9199) PYYN 1Y 13T N1 7299 DIDHINNN 911 %3) 1Py

And later regarding deriving %3%an»m 732 from a mw: 7%, the X713 challenges 12

9 1725 PR IOV 7129, but not 12 27 AR 13 PR PRY N2 71 (which, as Moo just said, is a

stronger X27"D) -
=12 2PN NN NI PPN 19V ONN Y NIY

For there (by 2x7annm T12) the Ko7 that 712 is 12 37w» MR 72 PN, is not

applicable -
=132 29191 9NN N 1Y DXDINNN 913 9IRN NI *39NT

For how will we conclude the X37°9 by saying; 72 is 12 27v1 1R 13 X, however

BADANMAMT T2 1S 12 27PN MR 15 (referring seemingly to the 7721 27X *237 that are kicking and
rolling the M2) -
= 9NN N X DY NIN 912 M1 NDT ynuny

Which would indicate that the 5373017 12 did not become a =12 through the

original M2 Sv2, but rather through another force (of the 7mm2 *%31 078 *%37) -
$ 02290 MV INNINYN s‘mx N9 NJa 992 AYYI 291V 1IN AN

However, this is not so; for it became a ™13 as soon as the owner placed the jax

in the 2''719; without any assistance from any other force. We can argue however that
a regular M2 is 17 173 WY to cause the damage, but by 2323017 M2 the damage was caused by
the 71721 Q7R 9737; not PWYN exclusively.6

SUMMARY

There is an advantage in the X370 of 12 27Wn IR 13 PR over 1?2 M3 LW, for in
the former we cannot say 13 TWw. The X3>7°9 of 12 27¥yn IR 12 PX 1s not
applicable by 232annn 712, for there too there is no 12 271Wwn K 1.

THINKING IT OVER

> See ‘Thinking it over’ # 1.

% We cannot argue that by 932ann71 M2 there is a 12 2Y» X 12 to cause the damage, for as MO previously stated
(>2 1"7 2,7 [regarding wX] TIE pg. 5) that causing damage through a nX 11> is a X717 relative to M3, who can only be
1m1Pna P . It seems that the concept of 12 173 Pwyn is referring to causing the damage (the p1°7), while 277 nR 1>
12 is referring to creating the damager (the °m).Therefore by 237017 M1 it is not 172 173 Pwyn, since the actual P is
assisted by X *237; however there is no 12 27wn JnX 113, since the P> was created by the ™37 Hv2 exclusively,
when the M2 was placed in the 7"71. Conversely, #"0R is 12 173 »w¥» PR and 12 27wn nR 12, for both the P and
the p1°i7 are caused by an outside agent (the wind).
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1. According to m»oIn that 232ann7 712 is considered 12 27w MK 12 1’&,7 since the
owner made the 72; so WX should also be considered 12 2% MR 112 PR, since the

owner made the fire!®

2. According to moon that WX is not considered 12 13 »wyn,” why later (regarding
the T1%°% of 2a%ann7 M), when the X 13 asks that by M2 it is 12 173 vwyn 19w, does
not the X773 respond 210 WX (but rather r°31° Mw)?!

7 See footnote # 5.
¥ See (the two interpretations in the) previous °2 17"7 2,7 m»d01n (TIE footnote # 14&16).

? See footnote # 2.
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